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Inequalities ¢ Absolute Value
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Inequalities ¢ Absolute Value
 ANSWER KEY 4.1
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Graphing Linear Equations
ANSWER KEY 4.2
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Graphing Linear Equations
~ ANSWER KEY 4.2
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Graphing Systems of Inequalities
ANSWER KEY 4.3
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Graphing Systems of Inequalities
 ANSWER KEY 4.3
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Inequalities ¢ Coordinate Graphing
ANSWER KEY: UNIT 4 REVIEW & PRACTICE
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Inequalities ¢ Coordinate Graphing
ANSWER KEY: UNIT 4 REVIEW & PRACTICE
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Inequalities ¢& Coordinate Graphing
ANSWER KEY: UNIT 4 REVIEW & PRACTICE
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Graphing Systems
 ANSWER KEY 5.1
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Graphing Systems
ANSWER KEY 5.1
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‘Problem Solving
~ ANSWER KEY 5.2
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Problem Solving
~ ANSWER KEY 5.2
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Problem Solving
ANSWER KEY 5.2
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Linear Programming
ANSWER KEY: UNIT 5 REVIEW & PRACTICE
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ﬂ%i lab) b
xT9527 = xy2a*{xgyta
ol hkc" = albe m—s
._xtogl‘s == _x3lm
—axBye = - 3xH[y3|

- =

G Yaub® = |ab
@ q\lx‘-lbazs = |xly*2 42

2

[V

1

H\ ' hqmwss

BB

n*m" sl \ﬂnm"s .

I

Cﬂ{quBalZ = lx\ﬂla_"l- é’xa—‘j

36) 3a4prd*t = b2t %’qb

@ 1 x5532‘3 = ijzgm
@ i]a@bbc = ab® [a3 be
4P = g*|b¥|c* Yampe
J2Hecd® = lab3eld*Jad
P TP
s -
A S

Hot olll We need hot oil! .

. . Forgel the water
balloons!”

%




Radical Operations
 ANSWER KEY 6.2

@'—l/smsbs "q/ID-Smibs ' @ W " q\{;c
Y eTmpr = [Bmbx Ym W+ WGE = |0 ) e

r"h
; must have parenthesis )
@ 4}5}36‘;’? - "lfg!bz_rz

2,4 + 8
apis = prrt Yae @ - A ey
=My*Z + 20kl = ,fxlijlﬁl

@ 3fzicist - levs

Jozz st = [ors Aaems
@ WZ+E)(E—E) = 3-5 =

= 3, - 4,6 :
@ JEw*n *32m™n The +wo problews above show mult:
\1 53,25 men? = Ez,o im3) n3jon of conjugates.

@ (7+0p)C7-ip) = [Ha-lp

© 333055  lo203b> ® - UDQA + JE)

- 3+ 33 - P - Yok
szsq Bp° = Ga""'bthb o 32 -
\=%3%a : 3T + bV ~2 —H=|97-06

@ e (e viE) = F‘Tﬁ (4- @) (3 + Yar)
4%[3_+‘-}?J_5—’5\[3—3"3\r.3_@-

Hafs dizafEe—23 =4

@ b (b+ols) = |NEBErab

® W (F > V) = (g @@ T
@ < 2a *33Yz -8
e @ Cyr2F)(y-y & + o)
354 — nwxt | Y> -y> 23§ + 936
J2a- e Ay - gy e
30z —HXW?(s-*tx)éE] y> + 328
N 3
must have pa,ren'H‘)Q.s'tSD ‘ Yy




Radical Operations
- ANSWER KEY 6.2

@ (x- 7)) (4% 3 + 3(7)
x*+ x* 3 + %33
- x> YT - x3G - 37
NE ~AET

(m+ 30& ) (2= m¥& +Xa=)

mi—m>3Ja + mIaT
+ m YA - wm Var + Yol

m> + 3e3
m 35 a
“That seftles it, Carl! . . . From now on, you're gefting
(',7_ =+ .3" k. )(L* -2 3\[\1 + 3, IKJ‘B only decaffeinated coffee!”

% - 4 3 + a Yex
+ K -2 U214 3

% + 33

T+ K

13



Dividing er Rationalizing
ANSWER KEY 6.3

© a2 @z, 3 P '@

1= - = |\Z T =3

e AdE e

\ 3~ 3- ===

@ WH_5 @l ‘Jg e _|3-5

P} 3hjs 3-8 = 9-5 H
O, ¥ 28 B M gm D2 2G. b ek

%ﬁ {J’f_ 331 ﬂz 2 \ﬁ 5-{z 5+V2 25-2 |82

®_2_ , 3+5_ /5 Lrals

@)i@:éﬁ,é}g’-:sfﬁ}:eiﬁ: 3-{s 3E 9-5 i
e ¥ @ @ ; reduce-*?-”—:—‘['_s
® [2.8 . & ,
\Jq_:ﬁ- -_3% @ ¥ '1-[--}@:13‘)-7\5: 25+73
O P o S [PEX) 12
© “:-Z'\‘_JE_ {7 7] |
\i2 ~ L"\ﬁ*)i? @ 14V | 3HE . 3+(E3szE 42
3-la Al G-a
@ 4|5 _ 45 _ |¥
L‘Tl-o“i[‘Jl:e' J% 5+ 42
7
@ N g&] . |
8~ Yp L3 240G 216 _ 4+ 6
2-{G 2 g
@ s[5 . Y5 P, .
P i B 2P o *;*"E - 521G
ol S 5 E,Em NIE |
fm* Yogm Fm L2 @ 2-Vz 6533 lo-62-S5(3+1
Srala. S 252y
Lot 3 -2 E = 19-IN3 -9+
SN 3 s




Dividing & Rationalizing
 ANSWER KEY 6.3

345 | 5-28 _ 15 -bl5 +203-40 @D 3/108x5yPet = Isjj’lz%/%xlg\

5+2l5 5-als 25 - 20
@ & + Jaey?
25 + 19435
= 23+ MyE =g B

@ JxA . xT - = J/nRadbee . Y2abc®
LUT‘Z“ . 3.q5 bttt

N TR TN = R I B
20@-p 20 +p Ho ~p™ 2able®] 4fqac?

@ m 3 & . 2JZ+f: 2mﬁ+mp+;la.+p\fa

@m+eNa + mp +2a
Ho-p%

S kiwmem e

iz,gi-yQﬂBi—ﬂa
5

\K——E- r '_OLTO-)—S.___@ = !___b\fl_o
S 5 5

D s I -y

RO e o
iz

e 2 [ 2

Hf b7 = ab)c2 Y23 “1¥e gol 1,100, Omar ... a strange feeling Iike we've
@ 32a°b Cq 4 \ ‘C 2> just been go?ng rl?\ntg?ci::."ng o™

IR

20




Radical Equations
ANSWER KEY 6.4

O J2x+3 +2 =10 @ \rb?;} = \’b-}zo ~L  gg. both sides
Nax+a = 7 squase both s\des b4 = btao —Y{br2zo +4
2x+3 = 49 —20 = —4 {br20
ax = 46 =R 5 = Jb+2zo Sq. bath s\des
br20 = 25
® JHars +5=7 b=6
J4a+8 = R  square both sides
Ha+8& =4 e JX“"F ~b = {xt20 $q. both s'des
Yo =% o= -l =4 - 120 +3L = x¥20
~12{x—4 = -1
@ 2[mys +6 =4 Jxok =1 sq. both s\des
A M+ =-2  coube both sides x=4 =| I no_
n+5 = - %=F 5 dots noh check! 1=olltons
m=-|3%
@ J3x-5 =2 - {x~ sq. both sides
@ Yaxrz +5=H x5 = 4 =t + x|
¥z =~  2x-8 = -4
simce the ndex (4) IS even, l“.__"*_. = \l':: 89 both <ides
the principal ot cannot =2
be negative $mgxHo oy
[ho solutions 4
z b ==t
® [X—&—S % ]’u“_-i sa].fwl*hs'\dcs xz gx +lb £
x+5 = ax-3 rEslisfaSi=
% = -8 X= 8 . (r=-10)(x~-2) =0
K= )Efor
@ Jmaz - dwm =2 X C;, ; ]
Thra = Im +2 59, bothsides 10 does not check
M+12 = m+H{m +4
&= 4 m : © ‘t:\[% Sq. hoth sicleg
2 = (m $q., hoth s des 2o 28
m =4 9

S | Y 't-zg,
fm=u o ‘5‘ =

21




Radical Equations
~ ANSWER KEY 6.4

s e Cube both s ides

31
_rp
oS

E-“ 1“_6?:' for v F0

-

@ \!F"-HOV-+25
w = || n+5]|

“Focus! . . . Focus!”

® atprctd = |lal bred Yabcd

® Ysaree® - Yrearbrct @ 14 -y9

4
22 3% ashreM

\3}__135_ - Qifa_ﬁ
) 3
YBQ\QB |C23]\q/8a.c1 ﬁ—é‘_ \/q—
% y XNa

2ro  ral6 _ g+ rEG 24 3
Y-l 4G lo —a\ 3_§5+_3__5i_‘1—: yfa

- 2 2

32+ _ |-g-3(p >
- 5 2

P N 3




Roots e# Radicals
ANSWER KEY: UNIT 6 REVIEW & PRACTICE

0) 4\[ b x—;j“"a? =
@ \j72a55’c_z

2 lxglzl‘{i%xy‘i]
YG: o2 |b3c3| m‘]

® oyt | an‘m 3\15nmj

© [ -

® Ybr—® = (@D s
musk use = parenthesis

© 3’2%&&(.5 R FT2
‘UQ-!'?;Z'QS]DBC" ra_bc \f bc_g

No db, valwefor aor b, en’rh
are + or both —

@ Lmn + 27420
B + 300l o = (43 Lol

must haxe pamd-haSIS B

H-vz)(6 -V3)
24 -3 -3 +3 = [27-10V3

@ sz . G U= |T=e
Sh Ysp Vsw | B0 |

@ g . ':[-—')..ﬁ-2 & -4z -1 +4
Yrafz -2z 6 -2

B _ [(a=3/73

-

"B 2

® B
4
.5

s ~af3
s 5@ -2

Con'l';n ved

tﬁ[ﬁ-;—

CLB jo

= T I=

W
+
0o
=
Iy

wh
)

@) Yor =3 cobe both swdes

gr1=27  [4=2¢6]

@ W +H = {yrzl Sci,bcﬂ'hS‘}deS
(Yrz) +2grn +1 = 4+l
2{yrn =8
Jyre =4 sq. koth sides

3#\l=lb B=E]
@ Jstax = x-5 Sq. bath s Kles

510% = x2-Jox +25
x&=|& x +20=0
(% —l0) (k=) =0

ez 10lor X 2 does nofcheck

©B Jx+h ~x ="l

k9T = Sq. both ses
x4 = x> I8x+rfl
*x*-19x+70 =0

Q(-H)OOS) =0

[x=H]or B 5 does not check

ey /2_"1_”\ cobe hoth sides
c

rg.: ZVS-M

r—i‘;:lmm

F: 20M £ - v 20
‘,_.3

L3



Rational Form e# Radical Form

ANSWER KEY 7.1

@ =z = |21 o5 s = aET
@ 230 = |30% Z x> fx

® f = ¥F - [p¥] @ @ > = 2ot
@ W = )(I/"f‘ ZI/J'X = @:
@ %[g = 3"3 @ 5/5;;% '3

® 25341 = 5 x 72 y* \ 5p*q

@ Bm>rC = [2amr?* @ Bm)H, ¥s

‘]mn\

@ 572 W '%t q ¥y

- (]
w‘f/vﬂ—’l-r =|Tg

@ 47 = 4E=[zH
® {J}basb" = |m @

® 3\[?' 8 @ @ va\‘j%‘ g X-‘/f_ji% K
@W“ %“@ . G\IXLjB‘
®' 4 Yo = @“’)V&; 2%: @ a“%b%‘y&%
T, % Y
Veue | ‘ a X
@ ; 1 f/ 59, It
@ (Ol/3 & i/_G,_ o’b ' x
® < =[] [x* YaZtx?
X = X : _
P @ st = a5
Iab’fda.b | 25 U
q'/."} x’?’j 5‘1‘[3 ‘ @ V‘B/h*\j‘é 25/6
Ty’ = |93y 1 Hry¥aalta

- @ (oolo)

@ NEERNES =31/"=3"1:@l
A = e 7=7%=(]

_ @ %: ‘\’/’23: 23/":3_‘/”:@

®§ﬁ;=‘ Bt=2 '3’*-@

@m}’l O =

@ () 31’;@ D

& 32 = 1274 =[12)

@\/—— WoF =2 M= 2= .
;

@ (x2)-(Z2)

G (:llb) )?/i— ;:rﬂ

729

36 _

Eh
@ ((?’7'5)3 = (;/3: 61:

3

@) (a¥)™ {@z}%’ﬂ : 25
@ @s)-lesy)% s>
B (c08)" =(, 2.3),/3 =2
@ (017)\/5:‘. C33)I/3= .3%

B

J
e, Y|
5]
H

M _ 624)y‘f;' R
et

244




Negative Fractional Exponents
- ANSWER KEY 7.2

I A I >
® s g% = ;:T
SR sk | )
Yy L, bR bW
@ p"= L% p& T | b
-% | m Ve m%
CRRG- e s
iyl © G SRR
5:7’3 5’[3 B 5 -
@ 24 L2 2t.6"% o
¢ e Bl
A P
L2 bl —[ b
ql/i‘ qz{_% - A
birsps B |*+3
b e b/ b |
5 -1 [ ey
@ 0Bm+3a " a% _|a%m+3
a:/a alh o
2x 4 < B ’ ?;xgé *‘L}XS/Q
x—zlb . le—b
@ R b3fzay5 _ gmbjfzazé
b ™ c;tv‘:s b o o

25




Negative Fractional Exponents

 ANSWER KEY 7.2

N i '
@ (%) 5={r\’é'} @a%bh_ bab%A[p>
> b'%. A g /s O o
| e L E |
@ (yB)H =y y™ g%k |5
_6 —Vﬁ- x33 3 1/
@ B by Y_;wg”l .< ) 3 _01_']"—‘::){\5‘igL
vl o vha Na -"*3 ¥ l3x5
Y
@ » +.?h- . X,/z"“:jb- x+2xld.1 ‘H&E?é
x"-y Py "3 = '% "R
0 wxa. . wE oA =
viipd YR [ =
@ x® | xb L3
X'zf_x—‘b x'\i x =
]
J\:}YST’PanTS/
THEN
;/our Slnoes
(1)
............ //{/! //
L1 i /////’ | I
. ;-'r‘ ' : //4// ./ n'/[f (( \t. \\k\{\!




Pure Imaginary Numbers
 ANSWER KEY 7.3

@ L2=ld) @ yn*+50 @ GK+32=0
iP=%sk10 tm* =5 qk* =-32.
@ JL_; = E] m-= —57"*' kz: —3:/5]
@ « m= = b= i RS
@ 1840 Ef 3:,1; S
= g " & .
® (Y = @)= 8i’s v TR 5 R
©® (2J%YGIR) = CdE)(34T) : )
AT R) T oA = G atb e < bl
@ (2) ad=) = (i) (24V3) eALBE = |b*at3cs ]
(81‘1;)(_&6): —Ltg;&: @ @ ‘1’.'*/.3)\:‘/‘L = Q%Xyb = 62%)63

) (6V=2w)(- = (b X G
| : gn@géjgiz%(sa) @D }F\(‘iﬂ"* N LT,
@ @) (EE)= @/B)EVE) [0 75 T 03) =, = 2-;=(1 JR*)=2
@GN = GD@Y= 183 L&) a7 = &)
© GG @D 0200 @ =@ 2 5 -3
® o)) = 245z (a9 =

@ 37w = [ 2a% b
Sy I 2 =
@ 29*+€=0 @ ab:la—a & By e S -n?
231__._9 3br=-18 ~(n i N ;)-'75 h.’—éq n
2 >= -k '
yr=4 b St A e ) !
goiE  [pzzil @ a_-b a” |1t
a‘ls qll_; oL
@) afe  oPb™ | L ghih
@ 5)(1""“\2—5:'0 @ 322"“1—"{’:0 %_ 3a § & 3, B =
. o _ L, oh o—-b
Ex* = —)a8 3“?_3' ==y e &
R 2 =5 *=-5
s T Al2s - IA'J—

2 - L)
Q27




Complex Numbers
ANSWER KEY 7.4

O (3+24) HH++5)= [7+74

@ G+ (3= [6+aL

® @re)-Gral) = [e+4e

@ (- 33)- @+ 23

(\-3.4)-(+ 52) = [15-84]

® 43X 1) R
(8254 +61-242) (3+4)

(A-22.4) B+4)
(37+294 <664 -24>) =

109-374

© 1-1) (Liﬁ*ii,)( 5 %2&)

(2814 -t 24 (5+24)

(3o+10.0)(5+2.1)

(150 +0 4 +5DA+20.42) =

@) G@xry)+ (k-4 =T -4

2xty =7

x-y=-l
3x =06

® (x+29) ¥ (2%-9)A 2 5+54

X2y =5 2%-—3:5

2 =24 = |0
BX =18

3
|

X
)

@ (ety) +Gx=3) A= 334
X+Hy=l3 2wy o4

—DM-S'U =-2b
-lly =-22
Y=
=5
© 4-74 _4; - MR Tt
=34 L -3 J o3
@ 56l L _ 561> | st
Eo L =20 2
® 200 A4 _ 200> gr2n Bl
LR 5 5 is |-

@ 3 e 20 | pral
H=l ol S il |7

® = | e6i_ 0L . [1aox

oreh, bEr 65 | g

®_t G- 458y _ [wesi

Gal E-26 20 | 7

® 2td3 , 2tAB | 40T 3
2-43 2B 34

| + 443
i conhnved

28




Complex Numbers
' ANSWER KEY 7.4

4 +24=
L3

dD I aE R 2z 2t

I—ANZ HE =24
tu 1 wverse
I 34 TIP3 _ [T wmo lt, jnhverse
7"5/‘(/ 7“}"3’1/ Ltq_qil 58 5’_’!'/ ._i__.‘_: 5/&__/{:?_
21 -L_ 242
mol~ Ivverse ' ' ‘ o
| . ?)_7/{/ = }"'7/{. = 3—/(1 -—:5:-'
THLL AT 4-4H9.* 58
—|=54
=1
D mul Inverse |
L A BT AR o [123
HL A Ha* = (5
Liffle Beavrr? Red E@I’c 2

: / WWhere iS for)’WiOkay...
\ Joke's over.

Last of the Mohicans

29




Rational Exponents ¢& Complex Numbers
ANSWER KEY: UNIT 7 REVIEW & PRACTICE

@

©

)

®

@ faeNA o8 l W |
p_'h. a = =y =\ ol .
£

rfa 5 2 3/3

Qf%qu"cg SRS

sy W M T 0%

W T £
3

Yoo Y s e s

N[ES

3"2. xy“" = 51/"} X?’/"‘: ‘ur CD(‘%

SeA a2 =E

| O (=) Ea3) = (edt) (443)

'-l'/ed[xio 2 L”;bxm: 7 L}x'c)’x}

22 x /a J)}x = |ax’Nz2x

(257 % = 25 CS)- 5]
e

()0e™) = GG

@E)= 2t =)

LA s B

>(2'/3_x'—|/5 - x‘/:*. 3 X - )

_idz hd'n/:_ . '/1 tilh L '}3%

sz'!‘j_')'b' '/ZJVz | x-Y

® <2”a )"/2: pitts 3 o
2>k’ a' b 4 b/
ol L' IR

Y '—EVJ- - TR

B (&)= Gi)(2iV3)
4G = 3]
@ () (TN = Ue)ai)(is)
2201g = 632 = |-adz

@ i3y =B344y

22 = liai

AL A
@ l =% (% h+75=0
-9 W= 1%
h =X H? = r\f?fs
Br 2
n= X343 i BERNE
i 2

@ 7+ (5-30)
35 =14 HoA4 - 64"

|
: |
25 =) A~6a? = |HI=114 |
|

20



Rational Exponents ¢ Complex Numbers
ANSWER KEY: UNIT 7 REVIEW & PRACTICE

(3 *‘&L)(3‘8L) njvgotes
BiE=ihy
q - 6Ha*
9 - (-64) = |73

@) H+3p ., Hd . Yrg 434 t0s>
|SR e | =442

Y I{h +64> ‘—:wnjv
1—- (- > |

@) 2-24 0o - Y-St
2424 -4 Y 2

ozsv\m

“Listen out therel We're George and Harriet Miller! We
just dropped in on the pigs for coffee! We're coming
out! . .. We don't want troublel”

=3




Completing The Square ¢ Quadratic Formula
ANSWER KEY 8.1

D y*Hy-21=0  -7bY= 2%
@-7)(:]1‘-5):0 Y= Tor -3 e~ 75 = i‘:/a cz= Hor 1/3J
® m2+6m =27 @ 3x =12 x+4=0
ml%m "9~7=O )(Q‘_L})L :_%/3
M +Dm= =0 [m= For3] TR S PR
| CREDERE A
® 6d*+13d+6 70 e
6d2+49d +4d +6=0 ez =t & & 20
2d (ad +3)+2Gd+2)=0 B G G 2
(2d+3)Bd+2) =0 |d =3horh = eE o xe (Dr;szjI
2 e
@ S 2ty =0
& J =
25741y 3y -21=0 @ reraxiaszo
24 (y+7) -3(y+D=0 Kowan = A =
(3-5-7) (13‘3>:0 :*‘70\/‘3/2. se Lol +45- a4 T
_;__% 1':—_ a-Ya
® vy *-btr+¥z0 bt =) =
vZ-by =-8 & == a*-Yo
Ly 9 = -%49 | >
(Y"?;)lz\ \i: -0t Naz 4
r-3 ==\ 2
v i‘{“: 2 or 4
ox* +box € =0
©® n*-8n4+14=0 Al 1:%’
Nr—gn+lo =-14Hb xR Yol o o
(D= Q( . b/m)’-: bi;%ac
n-4 = (= ‘m: 4tz
| x+ 5L, = £ Nbtac
@ 2t —~I4c 4-8:08 2.0 '
c*-'The =TA - —b= mz} i
e e <

22




Completing The Square ¢ Quadratic Formula
ANSWER KEY 8.1

3 ax?+b>x-3b =0

@® Hx*-lx-3=0
a:l‘} X = -C‘“) .I' \J(—-H)l— L”(L}K‘?&) a=a X = -.(51'-) + \J(bz..)L_ H(Q)C'ab)
. 204) b2ib® 2 (@)
=2 C==db
S LXISor—'/L}) %= —b*+ b4 120b
2 200
@ 2x*+3x+3 =0
azy o @ ENEY 4G
b=2 2 (2)
c=3 - T T 2 o
N -3t \F—IS 5 = _3:\:.&\)?5 ,/ o o 3
4 i e
Q (TR \
G +D (x> -ax +4) =0 &
az | %= -2 JEP- 40 —
b=-2 20) ;m
C=y r#‘ﬁ
%= 2T 713 _ 24243 Y%
Nk, 2 2 \
lx: SRS
@ a2=n5

“Now don't forget, Gorok! . . . THIS time punch some

a®-125 =0
holes in the lid!"

(a-5) (e *+5a +25) =0

azl =(5) £ \[(5)*- 4(1)(25)
b=5 20)
WSS 7 il
o=5 2 h 2
/ 2

23




The Discriminant ¢» The Nature of Roots
ANSWER KEY 8.2

a’+12a +32 =0

b>=Yac = (12)*-40)(32) = IE_]
pertect square

12 rational roots ]

-4y +4 =0
?ﬁ Yac = CH)*- 4G = [0l
[ vational root |

m*=-6m +4 =0

b2 - Hac = E6)-H0)E) =
positive | non perfect square
& _frrational voots|

2 o0m+5 =0
b*-Uae = Y- HOXBE)s
negcd%ve discriminant
2 imaginavyy rocts |

a2 ~19n = -6

2n - qn +6 =0
b>-Yac =C(4)= @)= [287)

perfect squave
|2 vational voots]

x*-x +1 =0

b™ Yac = (% 4(N0)=
nega,ﬁve Cﬁ\.Scr:tm;nqm‘f‘

12 Imaginacy vosts |

~|Ox + 285 = O
b*- ac = C10* - 4GY25)=[0)
Z2ero discriminant

[V vational voot

@

®

® 3Z+b +6 =0 @ x=3x+1=0
sum = 24 |5 som=3N |3
PT’O('J = 6/] 6 {N‘Od: /I |
® 2c*-5cH =0 @ ax*-bx5=0
som = 2 [P GBS
prod = o LB prod = % %
© qn -1=0 (2 s* -|6=0
= N m sum =7 |©
pfoc\= A /o and"'—{! 6
@ Bm +om+|=0
SUm :-—(9/8 _3/4
prod= g Ve |
@ sum! 6 +4 = 10 Prod’.@)(‘-f) = 24

X >=—|0x +24=0

Sum i 2405

** +2x -3 =0

D&st =12=0

prect @Y= -

sumiNBral3 = 3B prodt (B)E)=6

%= 3345 +6=0|

\':7‘—107( +23 =20

Wm' 3T 36
w>-b X +5%=0

2

prod ¢ (3+u)(é 74)=

B som: 5EG = 10 ped: BEEVI23

58



The Discriminant ¢ The Nature of Roots
ANSWER KEY 8.2

@&m

x -%u% =0

5’-*:34,

o i G m)( 5&) 174

}B_xz—lox +17 =0

@) bwm*+Tm -3 =0

thfgm :f::'
m?--s--gm-l-\%% :Ji+:'i§~¥
e ) = 12
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Graphing Quadratic Functions
ANSWER KEY 8.4
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Quadratics
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Complex Fractions
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Rational Expressions
ANSWER KEY: UNIT 9 REVIEW & PRACTICE
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Problem Solving
ANSWER KEY 10.1
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‘Problem Solving
ANSWER KEY 10.1
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‘Problem Solving
ANSWER KEY 10.1/10.2
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Problem Solving
ANSWER KEY 10.2
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Problem Solving
ANSWER KEY 10.2
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‘Problem Solving
ANSWER KEY 10.2
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